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(2Hl: &)
o = 20205/ H A = 20203 H ¢ = .
=] = SE RN et A AR SR a&e7 =
| HEFeA 9,699, 863,000 9,969,951,000| - 270,088,000
1. 2datEo=olsHEZ RN 9,663, 863,000 9,933,951,000| - 270,088,000
1) Abskele{=olad 7 ol 474,434,000 513,434,000( - 39,000,000
(1) 79 171,830,000 206,430,000/ - 34,600,000
7t MEATS 45,400,000 50,000,000[ - 4,600,000 (M5 2 X|XtA| 79 20,000,000
HE 2 X|XA A7l (SH) 30,000,000
HE A7 (LUH) (4,600,000)
2 A 45,400,000
Lh AR & o 7L =2 126,430,000 156,430,000| - 30,000,000 [7|¥H o742 50,000,000
7|3 A oA o9 50,000,000
7| EA AFF(SH) 56,430,000
7|2 AF=d () (30,000,000)
2 A 126,430,000
() usegds9 5,000,000] - 5,000,000
Jt. g2 5,000,000] - 5,000,000 |FEIWS 2 ol AMAY 5,000,000
FENS 2 ol AMAY S(HY) (5,000,000)
(3)7l &0l X9 1,000 1,000
ZF XA A0 H 52 1,000 1,000 |2 Ex%| 1,000
Lt 50| M2 1,000( - 1,000
(4)MH|XIAALE 2 59 300,000,000 300,000,000
7h AU XA 2 40
L o 249 300,000,000 300,000,000 ?Zj;tg:%g%gi;ﬂ b 300,000,000
(5)7| ERMEFE B 5=9] 2,603,000 2,003,000 600,000
= e el 2,603,000 2,003,000 600,000 |Etm7|ed (X ) 1,000
Stul7| o (&) 2,000
MEQIx|zjd 7| &0|™H|(2AH) 2,000,000
AtOH A2 B 600,000
2 A 2,603,000
)X egolsigmld 8,759,002,000 8,989,377,000] - 230,375,000
(1) A7+ 105,241,000 105,241,000
b AT 105,240,000 105,240,000 HE 9 XX o F52 10,000,000
HEATHO(ZW) 95,240,000
2 A 105,240,000
Lb AR o 250l 1,000 1,000 D2 ER| 1,000
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(EH2]: &)
= 20208/ H & = 20205| A o1 = -
ala] = 5B 2 Aol &H(A) 2x}5 A0l £(B) Eelts) aEEA =
= A 10,700,000
3 EEEC =SB R 36,000, 000 36,000, 000
1) 2 of Al 36,000, 000 36,000, 000
(1252387t 36,000,000 36,000,000 YAESHE ANWESE 36,000,000
(2)7| ek RERM Bt
2)7lea=xd
(N&A71=2387t
. a3 REN 10,238,138, 207 10,522,412,207| - 284,274,000
1. REEEo=QIsHZREN 5,468,522,286 6,452,561,536| - 984,039, 250
1) At Hg R EY 171,834,000 211,433,000 - 39,599,000
(1) drstp = A 7| 171,832,000 206,431, 000] - 34,599,000
7t 2lziH| 124,763,000 116,893,000 7,870,000 [®Sodqis0f 8,000,000
HEATSO(ZAH) 33,138,000
Abet| ol 74! 40,000,000
sretr ol 740l (B ) 35,755,000
stetx ol 740l (B ) 7,870,000
& A 124,763,000
Lb et el s 1,000 - 1,000 |H5AT9 stdelzdd| 1,000
FRAT stdolzis|(H) (1,000)
ot ol PR 2| 25,792,000 33,999,000 - 8,207,000 |40l AFTH|XY BH| 3,999,000
MAF AT AP HH| M EH| 20,000, 000
MAX AT AFHH| A RH|(SA) 10,000,000
A2/ MM AP0l o TEH|K R u| (Z) (8,207,000)
& A 25,792,000
2t ol sy 6,238,000 30,177,000{ - 23,939,000 M o170l oSS H| 4,000,000
FRATHY AT ESH|(SY) 3,502,000
AR AT AP E S| 20,000, 000
A AT ATSHFH|(SA) 2,675,000
SrelA| P40l ol T EhE | (24o) (23,939,000)
& A 6,238,000
of. o3 P 2px| F 2y 15,039,000 20,360,000 - 5,321,000 (&40 o Papx| F 2| 4,000,000
A7 ATHM FEH(SH) 1,360,000
pA e o e e T i o0 g | 15,000,000
SHAA A T o TN FEIH|(Z) (5,321,000)
& A 15,089,000
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(EH2]: &)
4 = 20203 H A= 20205 H A= =7H(A-B) AFZE T = o
= 552201 AH(A) 27t 2 0] £(B) s& o8= = =
HE. gt 1,000 1,000 |AbStaia) ot 1,000
AebE o FhH( 2 (1,000)
A}, 2| EFO 7 2hh| 5,000,000 5,000,000 |&HRdx|od 4= 2 Efed U| giy| 5,000,000
AR o =9l @ EFOI U ghH| (ZhOH) (5,000,000)
(2) mE2gH| 5,000,000 5,000,000
7t elzdH| 2,000,000 2,000,000 |BS2A52 oAy 2,000,000
WP AAH|[(HAH) (2,000,000)
L S 3y o] g 1,000,000 1,000,000 |15 DpE 7] | 1,000,000
WY o] (Z24H) (1,000,000)
ch ztstz
2 Al A& 1,000,000 1,000,000 |AlgAl&H| 1,000,000
AEHASH|(ZH) (1,000,000)
o} 7|Et1 §-2%H| 1,000,000 1,000,000 |7|Etn S| 1,000,000
J|Et D SR (ZH) (1,000,000)
(3) X| Al A B[
ZH X AR AR A E |
L AMSHR e E Al
(4)StHA|HMAIER 1,000 1,000
7t StRA|MEALR B 1,000 1,000 EEX| 1,000
(5) 7| EFFEEE B H| 1,000 1,000
7} 7| EFArEtE{ | 1,000 1,000 EER 1,000
2) K| 2 AL H B FEA 4,418,354, 266 5,348,224 536 929,870,270
(1) 74| 124,741,000 124,741,000
7}.2lzds| 57,200,000 57,200,000 HE A0 QM| 3,500,000
HEATE olAd|(ENH) 34,200,000
SH=od PR ek 2l 74H| 19,500,000
2 A 57,200,000
Lt sHg ol Z4H| 500,000 500,000 HEoi 740 stolzAH| 500,000
Cl. oI &M [ #A] 21| 36,330,000 36,330,000 HE74 of L& | X 2H| 2,000,000
HEAT ApHH| X 2H[(SH) 34,330,000
2 A 36,330,000
2l 7 esy| 18,710,000 18,710,000 HEI 740 o fLEEH| 2,000,000
HEHFEF AT FEH|(= S3) 2,000,000
HETL o LEEH|(EN) 15,710,000
HEI T4 of LEEH|(ZN) (1,000,000)
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~
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359,820,000
439,160,000
16,280,000
246,556,480
68,814,480
125,745,000
(21,290,000)
(34,053,641)
(102,004, 280)
1,031,542,657

1,000

36,950,000
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(17,000, 000)
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(2Hl: &)
3 = 20203 H A 20203 A o = -
el = HEFZOIM(A) 2%1% 20l £4(B) SEr HE= =h
(SHA3FE)AHA+ALY 7| Etm S 29| 79,900,150
(LINCH) AL HES ALY 7|Etu s 2| (M) (204,043,353)
(SHA17S)AHAAY J|EfD S 2| (ZH) (12,368,716)
(LINCH) AL HES ALY 7|Etu s 2| (M) (132,622,292)
(SA47S) | HAAKINDAIY 7|Eln | 21| 58,400,000
(A1) AHAALY J|Elm | 21| ( 2+ (202,293,959)
(HA3FE)AHAHALY T|Etn s 29| (24 (6,178,650)
(S AMA7S)H| X AKINDAIY J|EfR §2H|(ZHH) (23,000,000)
(LINCH) AlS| SHESIAIY T|EI RS 2| (ZH) (18,107,274)
2 A 1,235,545, 470
(3)7| EFX| A A H] 1,278,600,000 1,523,925,000 245,325,000
74 7| EFX| 2l 2 A | 1,278,600,000 1,523,925,000 245,325,000 |72/ AtZto{ &0l & 382,000,000
UFA| HAUIPHCI2EPHEX| M E 400,300,000
UFA| RotEESME 230,000,000
HUESME 2AXYS(FI|T) 15,000,000
HAESME 2IX|HAZ(2HFEA]) 35,000,000
HUESME 2AXYZ(F7|R) 44,000,000
HAESHE HAE xYZ 140,000,000
e MY SEHES xZ 250,000,000
7+ 85 STl Rl K| 2l ALY 7,125,000
HAESME HAX|YESZ2OY A (HI|E) 9,500,000
UFA HAZIIHCLESIIEX|JME FIHE 8,000,000
HAESME HA=2 XF FIE 3,000,000
IS5 S| AR K| 2 AP (7,125,000)
2 MY SSHES XY (HA) (250,000,000)
UFFEA| HAZIPHCIR SIS X AME (SH) 9,400,000
HAEFME 22lelas8E stals|o| A g/nztol A 1,050,000
UFA| RS EFHSMHE(SNH) 1,350,000
2 A 1,278,600, 000
3) ZHHH| Al 2 R ENH 252,930,020 268,200, 000( - 15,269,980
(1)l x| dH| 4,000,000 4,000,000
7t elzdH|
LAl s EA a2 4,000,000 4,000,000 WA FAME| = 4,000,000
(2) 4 x| H| 26,400,000 41,400,000 - 15,000,000
7F 7| S EX| AAH] 26,400,000 41,400, 000( - 15,000,000 |AtRI7|E 29H|[(2H¢dsHH|5) 12,000,000
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(2Hl: &)
3 = 20203 H A 20203 A o = -
el = HEFZOIM(A) 2%1% 20l £4(B) SEr HE= =h
o k2| = EH( 2 200,000+128) 2,400,000
SIEZ|H #e| 2Hu|(3E §) 7,000,000
g Y Mol EoHH|(E8H| X5 8,000,000
Aets el §o|35| odsH|S 2,000,000
SIAUAMN  UAEBEFTE(MEEZHES) 7,000,000
SIAZZOY ALE 2 Me{E o] 3,000,000
At 7| 8 2| (ZH) (8,500,000)
WS 2 MojLp Eo[(Z) (6,500,000)
2 A 26,400,000
(3)AM =gt E x| lH| 6,000,000 6,000,000
7} npstEstatE|
LE XA R AHE & 21 #S 2| 6,000,000 6,000,000 WA XA B 6,000,000
(4)7|EFx| dH| 216,530,020 216,800,000 - 269,980
Jb. 7| EFR| | 216,530,020 216,800, 000( - 269,980 [SZAIY MHE ZAS 3,000,000
(LINCH) Al E S SMAIY ZHH| 63,550,000
(A gs) Mot A ALY 2HdH| 172,900,000
(SA3Fs) M2t AMALY ZHH| 50,000,000
(AN F8) MOt AAY ZHHH[(5) 52,100,000
(LINCH) AlS| SHE S ALY ZHHH[(ZH) 25,250,000
(AN F8) MOl sH A ALY ZHEH[ () (150,000, 000)
(SA178) AHAAY ZHR | () (269,980)
2 A 216,530,020
4)dHtae|H|H 2 R EN 130,404,000 129,704,000 700,000
(1) 2ktad| 130,404,000 129,704,000 700,000
7t. 2|
L ebx| Ad| 130,404,000 129,704,000 700,000 |2 F9IE7|2 MZAH| 52,000,000
SHESMEH SHE 6,336,000
SHEFME HAa 89| 31,000,000
HALFME MR 2 2,640,000
HHESME A T35 HER 1,980,000
HAEFME QEU AR 4,488,000
HAESME M| 22|y 2,580,000
HAEFME EHO|X| FXE2FE 840,000
HAESME X HAXIAAMA| 7,000,000
SHESME MA(dFT(E XY S) 10,000,000
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20203| A ¢ £ =& (3%H) 7}

SHFZ0&AM)

7| 20204 03% 01 EE 20214 02% 28 7hX|

(EHel: &
o = 20203 A 91 = 20203] A oA = o = o
= EXZ04(A) 2%} 5 of &4(B) . -
A sotzl X|AH| 3,000,000
St 7| (M ) H Zd| 120,000
St 7| (&AM | 20,000
HABSME AlMZAH| 50,000,000
HABSME AMIZAH|(S HA) (42,300,000)
HHEsME MRz —T——T—E(%‘ﬂ.‘) 700,000
2 A 130,404,000
ch E[ 220
2l XgE$+2
o} M 22tz 3}
5) 2ot ENZFEN 95,000,000 95,000,000
(1)2geH| 8 95,000,000 95,000,000
L HIESEY A
L 7| Ete g e 95,000,000 95,000,000 e MY SEH SSXA|AAIY FoH gt 2,500,000
S E ALY T gt 2 84,000,000
(Sr3s)gMAA NS stz 8,500,000
2 A 95,000,000
6) W HANMEZHZTFEN 400,000,000 400,000,000
(1) EnsANES 400,000,000 400,000,000
bW HMER 400,000,000 400,000,000 Stus|AMEZ 100,000,000
Stus|ANMEZ(SY) 300,000,000
2 A 400,000, 000
2 EXESoZR0sH B REN 4,745,615,921 4,045,850,671 699,765,250
2) FEAME SR &= 4,745,614,921 4,045,849,671 699,765,250
(1) EXIZFE
(2)HEFE 2,091,364,440 1,930, 370,850 160,993,590 |(&HA178)AHAALY W EHA 70 My| 1,372,713,098
(HA3FE ) AHATALY W | 3HA 7 M| 98,030,000
(LINCH) AFS|SEE S ALY AGEtd 54| 234,886,135
HHEFSME AlMIAH| 75,300,000
(A1) AHAALY WS EHE | MH|(ZHH) (322,713,098)
(LINCH) AtS|SHE S ALY AlGstd TEH[(5Y) 251,154,715
(S AM47 S )| CHH X AKINDAIY Al ZLVR-ARAISA 5 221,000,000
(SHA1F8) AHAA Y w3t 7| Mu|(SH) 98,525,390
(ST )AHAALY WS EHAIN M| (SH) 100,468,200
(HA478 )8 HA|2KINDAFY Al ZVR-ARA &A1 T=(ZH) (46,000,000)
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20203 A HE = B(3X})FIHEE o &M (SIS0 AHM)

7| 20204 03% 01 EE 20214 02% 28 7hX|

(2Hl: &)
I =5 3] 3|
_222(_)s|74|ﬁ5 20203| 7 oA &= =2H(AB) sz = o
NEl = B ZXZ0I&H(A) 2xtEZH o 24(B) h

HAHSME 2258 sHA3oA A AL 8,000,000
2 A 2,091,364,440

(3)T=EFS
(4)71H 7] 735 2,236,180,741 1,668,521,375 567,659,366 (W01 7|AH17|F of ¢l 5,000,000
(LINCH) Al HESE SMAIY A F™H| 434,050,000
(LINCH) Al E S SMAIY ZHH| 6,000,000
(LINCH Al E S SMAIY ngEAE 75| 85,270,000
(%“Hvd)ﬂaé%wﬁ 7| A7) ol 139,200,000
(AN F8)SAMAIY Z[A7| 7 of 513,000,000
(LINC+) FelHES ALY 7| A7 7 ofel(o|€) 42,868,000
HAESME J7|A 7|7 o gl 8,000,000
(SHA17S)AHAALY 21 A1 7|7 o ol (Z) (40,938,280)
(iﬂS%@)AHAMP‘ 7| A 7|7 ojf ¢ 155,570,000
(LINCH) AFE| SEE S ALY T|H 7| T o (SNH) 22,184,865
(SHA17S)AHAALY 21AH17| 7 o () 228,663,098
(LINCH) AFBISEE ALY T A7 7 o @l (ZH) (72,946,308)
(SA47S) | HX| LK INDALY 7| A 7|7 of & 122,600,000
AUESME 2203 SR stats|o A JIA7| T o) 20,000,000
(SA17S)AHAALY Z1AH17| 7 o () 249,893,122
(M3 )AHA+ALY Z| A 7|7 olff I (BH) 211,564,470
(SA4FS) | HX LK INDALRY Z|AI7|F of (S M) 93,000,000
(LINCH) AL HE S ALY 7| A7 7 of(BH) 22,251,774
HAESHE 223528 SS9 AM J|A 7| (L) (9,050,000)
2 A 2,236,180, 741
(5) 7| EF & 418,069,740 446,957 ,446| - 28,887,706 |m=od7 EI|H|E ofl 2,000,000
(LINC+) Ats|StE S SM ALY ARH| 40,455,000
(LINCH) AtS| St E S SMEAIY ZHHH| 4,000,000
(LINC+) AlS|SHE S SM ALY WS 37| S| 15,100,000
(A8 DS 2o E of ¢ 3,530,000
(LINCH) AFS|SEE S ALY E7(dH|E oiel(o|d) 16,642,000
SHESME F7HE oY 8,000,000
(HA1f8)DSedNM ZI|H|E o (SH) 46,313,000
(S 2378 ) AHA+ALR MSstAM Z7|H|ZE o ¢ 75,777,100
(LINC+) AtS|SHESI ALY RI7(H|E ofd(SH) 64,452,700
HALSHE RIH[E ofd(SH) 7,000,000
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20203 A H =

Z & (3% F7}

of £kA (& =0

7| 20204 03% 01 EE 20214 02% 28 7hX|

| 4kA)

(EHel: &
TS 20203 A 1 = 20208/ AH = = AE 2 = o
e = EEEH0|AH(A) 2%t ol £H(B) = —T T -
S ATRE)AHAALY EI7|H|Z o) i ( 182,198,716
AS|HEE ALY T E ohd (HH) (18,511,070)
S8 )AHAALY EI7|H|Z ojf @I( (16,678,406)
T3 )AHA+ALY WS SR M ’.;! (4,709,300)
AB| R EEAIY T7(HE ol (A (7,500,000)
2 A 418,069, 740
3) FHAME SR = 1,000 1,000
(1) XAz AAF S 1,000 1,000 SEFF 1,000
(2)7e|F S
(3) 7| E} R E XA F S
S MEEESoZSIAZREN 24,000,000 24,000,000
1) &l of At 24,000,000 24,000,000
(2532 24,000,000 24,000,000 HaEsMdE & =g ohat 24,000,000
(2)7|EH| =5
2)7| 22utst
(1)EH7| 234
IIl. 2|52 538,275,207 -552,461,207
B EEER 1,129,335,159 1,129,335,159
YRR 591,059,952 576,873,952
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